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Question 2 

Method 1 
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Question 3 
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Question 4 

( ) ( )
( )

ˆ ˆ ˆ ˆ1 1
ˆ ˆ, 0.544,0.736

ˆ2 0.736 0.544 1.28

1.28
ˆ

2

ˆ 0.64

p p p p
p z p z

n n

p

p

p

 − −
 − + =
 
 

= + =

=

=

                A1 

( )

( )

ˆ ˆ1
2 0.736 0.544 0.192

ˆ ˆ1 0192
0.096, 95%, 2

2

0.64 0.36 0.096

2

048
0048

048
10

0048

p p
z

n

p p
z z

n

n

n

n

−
= − =

−
= = 


=

=

= =

              M1 

100n =                    A1 

 

Question 5 
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b.   ( ) ( ) ( ): 0, 2 , sin 3 cosf R f x x x→ = +  

 ( ) ( ) ( )cos 3 sin 0f x x x= − =   for turning points 
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Question 6                ( )
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Question 7 
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Question 8 
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Question 9 
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